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24 FHHHIEA T — 1 (50m) 1/2
WA ;2024511 H3H (H)
No.22 BBF 50m /N2 754 B4 LL—RREE 2EZ 2.4
L 10ELLTF >
B K £ & PE KR iclE
1 INRgE BaK B I GAR®EH /N4 5/ 7 33.38 108% ( 0.73)
2 HH I&5E B I GHE /N3 5/ 2 35.76 9%% ( 0.68)
3 PFH Bt B 1 G #fF /N4 4/ 5 36. 26 8tk ( 0.83)
4 B R BIGT =3 /N4 2/ 4 38.15 8% ( 0.78)
5 AT EA KTP2%AN /N4 3/ 2 38.32 8#k  (0.77)
6 A HEK B I G #F /N 3/ 7 39. 41 % (0.73)
7 PRH EE BIGHR /N3 1/ 5 41.17 65% ( 0.70)
8 #FF BHE BIGTS /INB 2/ 2 43.73 3tk (0.82)
9 JE/K BLK BIGH» K /N3 2/ 7 44. 40 4% ( 0.69)
10 1 F K BIGT = /13 1/ 2 44. 57 T#%  (0.75)
11 [R5 Sl BIGT /INB 3/ 8 46. 72 ( 0.79)
12 KH = B I GIIAE /N3 1/ 7 47. 44 +FH) 5% ( 0.92)
13 =57 ERF BIGAR 3% ! 1/ 6 48. 57 1% (0.79)
OPN N f&K A b~ A ! 4/ 8 37.04 7% (0.70)
OPN Fgie EBR#E ISZ-3=F:5 /NG 3/ 4 37.10 % (0.72)
OPN g i kttES S /N3 3/ 1 38.72 7#%  (0.72)
OPN &  H#ifH VISSZ =P = NS 3/ 3 38. 86 65% ( 0.73)
OPN pafy A VASZ J=Eie ! 2/ 6 40. 24 5%k ( 0.73)
OPN JNfE HK A h~ R /N2 3/ 5 41. 30 9% ( 0.72)
OPN ZEE  Ki A b~k /N3 2/ 3 42.10 5%% ( 0.67)
OPN /1] H A h~ ik /N3 1/ 3 48. 56 58 (0.79)
No.22 BF 50m /N2 754 B A LL—RRE ®ick 2870
L 1112 >
BRI K % T & PE K =G
1 HH KE B I GH=E /NG 6/ 6 29. 91 10#% ( 0.61)
- JOC
2 AR PR BIGH» T /INB 5/ 1 35.37 6% ( 0.85)
3 =Hl = BIGTS NG 4/ 3 37.13 58k (0.73)
4 FR BEE F=4S S /NG 4/ 1 37.57 5% ( 0.61)
5 AT miE KTPD>AM)N /NG 4/ 2 38. 67 4%%  ( 0.70)
6 +5F DA B I G/EMH ! 3/ 6 40. 64 58k ( 0.76)
OPN M&)11Fa T HE A~k /N5 4/ 4 36. 54 5%%  ( 0.64)
No.22 BF 50m /A% 754 84 LL—RRE ARESR 26,40
L 13- 14 >
B K £ T & PE KR =G
1 R AR BIGHE % il 5/ 3 33. 01 5#%% ( 0.79)
2 HRE fLiw B I GAE 1 4/ 7 35. 69 3%k  (0.89)
OPN B kK WAYS Ik = H2 6/ 7 30.52 65% ( 0.62)
OPN #aff 2K TH S C 12 5/ 4 32.39 58 ( 0.67)
No.22 BBF 50m /N2 754 A LL—RREE REE 2692
< 15EME >
BRI K % T & PE KR =G
1 SnAREER KRR B 1 GHE = 7/ 8 26. 80 9f%k (0.71)
2 HH R BIGHHE =3 6/ 2 30. 27 6% ( 0.68)
3 R Kk 4SS = 6/ 1 32.80 3#%  (0.86)
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24 FHHHIEA T — 1 (50m) 2/2
WA ;2024511 H3H (H)
No.22 BBF 50m /N2 754 B4 LL—RREE REKE 2692
L 15mLlE >
B K& 4 T & PE KR iclE
0) 3\ 5 7 N =2 W= =3 7/ 7JOC(CS2>4. 78 10#% ( 0.65)
OPN #2111 il R K3 7/ 2 25.14 9%k ( 0.64)
OPN /s BEAE FRTR N 7/ 5 25.29 10#% ( 0.63)
OPN 5 FHik R K2 6/ 5 25. 48 9% ( 0.62)
OPN = i HH P o R K2 7/ 6 25.57 8tk ( 0.65)
OPN FKH  [FEEA W =2 7/ 1 26. 74 8% ( 0.65)
OPN JE3& Fnuk mHSC 2 6/ 4 27.72 7#%  ( 0.58)
OPN Il HiK 2w T =3 6/ 8 30. 51 58% ( 0.63)
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